Version 1.0: 0606

AQA/

ASSESSMENT and
QUALIFICATIONS
ALLIANCE

General Certificate of Secondary Education

Panjabi 3681

3681/R Reading

Mark Scheme
2006 examination - June series

Mark schemes are prepared by the Principal Examiner and considered, together with the relevant
questions, by a panel of subject teachers. This mark scheme includes any amendments made at
the standardisation meeting attended by all examiners and is the scheme which was used by them
in this examination. The standardisation meeting ensures that the mark scheme covers the
candidates’ responses to questions and that every examiner understands and applies it in the
same correct way. As preparation for the standardisation meeting each examiner analyses a
number of candidates’ scripts: alternative answers not already covered by the mark scheme are
discussed at the meeting and legislated for. If, after this meeting, examiners encounter unusual
answers which have not been discussed at the meeting they are required to refer these to the
Principal Examiner.

It must be stressed that a mark scheme is a working document, in many cases further developed
and expanded on the basis of candidates’ reactions to a particular paper. Assumptions about
future mark schemes on the basis of one year’s document should be avoided; whilst the guiding
principles of assessment remain constant, details will change, depending on the content of a
particular examination paper.

Copyright © 2006 AQA and its licensors. All rights reserved.



Panjabi - AQA GCSE Mark Scheme, 2006 June series

READING TESTS

Notes on the Marking Scheme

Non-verbal Answers

Follow the mark scheme as set out.

Verbal Answers (English or Target Language)

L.

The basic principle of assessment is that candidates should gain credit for what they know, understand
and can do. The following guidance should be borne in mind when marking.

(a) Credit should be given for all answers which convey the key idea required intelligibly and
without ambiguity. This applies whether the answer is in English or in the target language. A
separate assessment of spelling, punctuation and grammar is not required on these papers
because of the nature of the answers. However, these aspects are an integral part of assessing
communication and marks cannot be awarded where errors in spelling, punctuation or grammar
lead to a failure to communicate the required information without ambiguity.

(b) Where a candidate has given alternatives or additional information in answer, the
following criteria should be applied:
- if the alternative/addition does not contradict the key idea or make it ambiguous,
accept;
- if the alternative/addition contradicts the key idea or makes it ambiguous, reject.

(©) Where numbered lines are given within a question/section of a question, credit should be given
for correct answers, no matter which line they appear on.

(d) Where a question has more than one section, a candidate may include as part of the answer to
one section the information required to answer another section. For instance, the information
required to answer section (b) might be given as part of the answer to section (a). In such cases,
credit should be given for having answered section (b), provided that no incorrect answer has
been given for that section in the correct place.

(e) Where a question or part of a question carries more than one mark, candidates are given credit
for all the correct answers they give, even if they have given incorrect answers as well, except
where any of the latter contradicts a correct answer that they have given.

..... /..... means that these are acceptable alternative answers. (.....) means that this information is not
needed for full marks.

In questions where candidates are asked to name, for example, three types of vegetable sold in the
market, only the first three items they write down should be considered.

Accept

- T/F/?

- Target language equivalent as instructed in rubric

- v IX?

- a mix and match approach using the above, where the response is clear and unambiguous

(e.g. T and ¥ are both used by the candidate).

In multiple choice questions where candidates must choose one letter or number, they should
automatically get no mark awarded if they give more than one. If the rubric instructs them to write
one letter or number in the box and they do so, but write a second letter or number outside the box too,
then the answer in the box should be considered.

No mark scheme can cover all possible answers. When in doubt:

- look for the key idea, where this is appropriate.
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Reading

Foundation Tier

Question Key Idea Accept Marks Reject
1(a) Drink and /eat Do not eat/drink 1 Water/ food is dirty
(b) (Table) is dirty 1
Tables are not clean
2 (a) Air India Indian Airlines 1
(b) 9.00 (p.m.) 9.00 1
(©) Saturday 1 Any other day
(d) ‘Indra Gandhi’ / Delhi 1
3 C 1 A, B,
4@ |y y & nrRar | 1 T
(nf) g &g, A3 € 351 o' 1 9
®) TH @A TH 1
10
5 4 Accept correct 1
6 words for numbers 1
1 1
5 1
8 1
6(®) |<eee 1
() fex wer féx, 3.30-4.30SR 1
®) ATER 1
(A) afugeg 1
@) f&stis ysr uar8= 1
7 - 1
? 1
5 1
o 1
1
o)
8 =
MHS - 2f6H | A
(393) fesagru T | o T | 2 gait T |1
ugfHeas :- afgae 1
ASG™H - g2T% 1
37Es (T 1) 1
9 3 1
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Question

Key Idea

Accept

Marks

Reject

10(®

(1)

& (famer) a9H 3 & 837
Jer T |

gy f&9 85 & Har mi8er
Gl

fes 38 (TR T3 1)

(593) 33 Jet T |
TdT (T T 1)
HIA/gY We (feamer/
foamdt T 1)

& IIH & B3

Any 2 of 3

Any 2 of 3

Total

35
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Higher Tier
Question Key Idea Accept Marks Reject
1 mHs - 2fer 1
g93 fesoru I 1
ugfiies - afdde 1
A3&H - T8 {
3WEs T | 1
2 <) 1
? 1
a 1
° 1
3
1
3(8) e FfMErdeH3I &35 e T o ot
e Tufdg s HAm MBe T | oros 2
o foaBT IS TS|
() Any 2 of 3
o (493)35 T T 1)
o T3F (fFE T I) 2
o HIA/MY U (feaser/ faaset J1)
Any 2 of 3
4 1 = 8 1
2 = 11 1
3 = 2 1
4 = 6 1
5 = 12 1
6 = 10 1
7 = 3 1
8 = 7 1
9 = 5 1
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Question

Key Idea

Accept

Marks

Reject

5®

(A)

(e)

@

e fHat 3 1

Hafl3 AIt® |

Jrfentt € (89) AE / H3BY FIYT
I TS |

fez18 Jainii/ ufgeg T 85 &
T THM T T |

Urrst Ba-Afen3T 99 TEadt;
Ut U fifedtt (@ a99;)
Ut feon et funr;

Ut §3t (& HI33T 1)

H& 39 n8er J;
A9 funig &t 3793 @ wifgre a9e
—

€3r9 fimer J;
Ut 9= 3 vE HfggR der 3 |
Ay AT %t fes a9er T |

3-U3s € 3e-3< (3;)
st Tt @ g9 (3;)
It 3% T it SfesaE
33

Uy & €3 |

JTTH H's mMuE miy feg fea
FAET T |

ol

TS |

Any 2 of 4

941 8%

Any 2 of 4

Any 2 of 5

Any 2 of 4

Any 1 of 3
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Question

Key Idea

Accept

Marks

Reject

6(®)

()

®

7 (a)

(b)

(©)

(d)

(e)

foHt =gnr

(St fredft ) 39 T |
fea efvst & qaat T |

UAret Bet € &< GHG |

In Summer holidays

Five weeks
(both details needed)

She thinks there is no place like
India in the world.

There is a variety of religious
and historical places to see /
there are ancient temples,
beautiful gurudwaras, massive
forts, palaces etc.

High mountains,
Cool breezes,

Water falls,

Or pleasant scenery

Peaceful atmosphere
(Any two of four)

Narrow / dangerous roads
(Danger of accidents)

Falling mountains due to rain /
floods due to rain

All types of facilities are
available.

Can spend good holidays in the
way you want.

Lots of places to visit

Both names required

One detail before
slash and one after to
award one mark

Two details described

Many / lots of
facilities

One detail alone

Lots of places to visit.

Nice weather
Good atmosphere

Facilities

Total

45






